=
=
=
=
=
a
@
o
3
=]
o
=

Il 32

LGXS05

B Ordering method

LGXS05 -

T

Advanced model X @ Motor-less Single Axis Actuator

© Slider type

: Standard

~groove (both sides)

50 to 800
(50 mm pitch)

-groove (right side)

H Specifications

[Caution]

This system is provided as mechanical actuator unit and not including any adopters or electric
components. Motor, driver and other components required for installation are the user's responsibility.
Refer to user’s manual for installation details. Refer to your motor manual for tuning or

adjustment. Vibration or resonance from actuator will affect service life of actuator.
The product performance may not be satisfied depending on the compatible motor.
The bending unit cannot be used for the high agility mode.

H Allowable overhang "°t¢

M Static loading moment

Applicable motor 50 W A
Repeatability Note! +/-0.005 mm
Deceleration Ground ball screw ¢ 12 c A B ¢
mechanism (C5 class) B
c A
Stroke 50 mm to 800 mm (50 mm pitch) m L17)
Maximum speed"°t? 1333 666 333 LGXS05-20 (Unit: N-m)
eroquivalont) mmisec | mmisec | MM/SEC o ipontalinstallation wntmm Wall installation  (unit:mm)  Vertcal (it My [ mP | MR
Ball screw lead 20 mm 10 mm 5mm A B T A B T A T 24 ‘ 27 ‘ 23
"p":;‘lio’gg'l}m Horizontal| 5 kg 8 kg 13 kg 2kg| 898 269| 350 2kg| 323 234| 809 1kg| 452 452
(or equivalent) | Vertical | 2kg 4kg 8kg sk 583 112 150  ska| 119 76| 427  2kg 217 217 |elaCKlMCLIGRIINCII]
Rated thrust Note3 7
H Flange size 40
(or equivalent) 41N 69N 138N B Specification ge size | L]
Maximum dimensions of LGXS05-10 Wattage 50W
e loretra et W 48 mm x H 65 mm Horizontal installation (unitmm) Wall installation  (unit: mm)  Vertical installation (Unit:mm) T ian
Overall length ST +131.5mm A B c A B c A c anutacturer SGMJVOA:
- Yaskawa -
Degree of cleanliness N4 1SO CLﬁrSeSqﬁiflljg)r?;lGM g 2kg ?505 :1322 24215 2kg ?85 :::6 21:1582 Tkg 73? 73? Electric Corp. |SGM7J-A5
Intake air "ot5 30 N&/min to 100 N&/min Skg| 1366] 149 246 _ Skg| 195 113 116 2ko| 381 381 e |SV-LJ005
Using ambient 0to 40 °C, 35 to 80 %RH 8kg| 1036/ 90| 150 8kg 95| 54| 745 4kg| 160 160  corp, SV2-11005
temperature and humidity (non-condensing) HE-KPO53 "o
Note 1. Positioning repeatability in one direction. LGXS05-5 Mitsubishi 'HG-KR053 ™
Note 2. When a moving distance is short and depending on an Horizontal installation (unitmm) Wall installation  (unit:mm) Verticali witmm)  Electric Corp. 22222
operation condition, it may not reach the maximum speed. HK-KT053 "
If the effective stroke exceeds 600 mm, the ball screw A B c A B c A c R88M-K05030
may resonate. (Critical speed) 3kg| 4604| 281 497 3kg| 439| 245| 4371 4kg| 183] 183 Omron [ROOWTAUOUOT
At this time, make the adjustment to decrease the speed Electronics  |R88M-1M05030 "°**
while referring to the maximum speed shown in the table. 8kg| 2197| 101] 179 8kg| 117 65 1812 6kg| 111 111 P 1o Corn. IMHMF5A
Note 3. The rated thrust and maximum transferable weight are 13kg| 1593 59| 105 13k 42 24 1000 8k 75 75 anasonic Lorp.
values assuming the attached motor outputs the rated 9 9 9
torque. : : : : : : Conversion ;
Note 4. When using in a clean environment, attach a suction air Note. aD';ltj?g:Z;:i?z:ﬁp;irf?‘f()sgggr;;p to center of gravity of abject being carried at adapteré)rtlnduct Shlnr:uprLabtzrpart
joint. The degree of cleanliness is the cleanliness level ’ - moade
achieved when using at 1000 mm/sec or less. Note. Service life is calculated for 600 mm stroke models. GX-BEND-40 | KES-M2295-00
Note 5. The required suction amount will vary according to the

operating conditions and operating environment.
Note. See P.115 for acceleration/deceleration and inertia moment.

When used with high acceleration or deceleration (High agility mode)

Note. To combine with the conversion
adapter <GX-BEND-40>, the shim
plate (t1) is necessary.

B Specifications H Allowable overhang Net

Stroke 50 mm to 550 mm (50 mm pitch) LGXS05-20 LGXS05-5
Ball screw lead 20 mm 10 mm 5mm Horizontal installati (nitmm) ~ Wall installation  (unit: mm)  Vertical i (Unit: mm) Vertical i (Unit: mm)
Maximum A B Cc A B Cc A Cc A c
payload ; Zkg 3kg - 1kg| 498 324| 323 1kg| 297| 288 468 1kg| 223] 223 1kg| 478 478
Maximam | O M s | 11,77 mis? 2kg| 230| 157] 150 _ 2ka| 123] 120] 199 3kg| 138] 138
acce.leration (1.2G) (1.2G) : LGXS05-10
y:;‘l:)"a";m 1kg 2 kg 3 kg Horizontal installation (unitmm) ~ Wall installation  (unit:mm)  Verticalinstallation (unit:mm)
Maximam | o (177w | 177 mis | 747 mis A LB LGS A LB L C A LS
acesloration (1206) 120) 076 1kg| 1159] 460 645 1kg| 606 424 1129 1kg| 396/ 396

3kg| 381] 148 206 3kg| 163] 112] 346 2kg| 182] 182

M Payload - Acceleration / Deceleration Graph (Estimate)

Horizontal/ NZZS LGXS05
Wall hanging € LGXS05-10
é 20
S 15
3 LGXS05-20
g
5
©
g 0 1 2 3 4
< Payload [kg]
Vertical 5 LGXS05
E® — LGXS05-5
52
©
215 LGXS05-10
810
55 LGXS05-20
S o
8 0 1 2 3 4
< Payload [kg]

Access the website below.

& YAMAHA

Note. Distance from center of slider top to center of gravity of object being carried at
a guide service life of 10,000 km.
Note. Service life is calculated for 550 mm stroke models.

B Effective stroke and maximum speed during high acceleration or deceleration

Effective stroke 50 | 100 [ 150 | 200 [ 250 | 300 | 350 | 400 | 450 | 500 | 550
Maximum | Lead 20 1333
speed Lead 10 666
(mm/sec) | | ead5 333
Note. The bending unit cannot be used for the high agility mode.

Note.
Note.

The high agility mode is used in an effective stroke range of 50 to 550 (50 mm pitch).
There is no critical speed setting. The maximum speed can be set for a selectable stroke.

The speed may not reach the maximum speed if the movement distance is short or depending on the operating

conditions.
Note.

See P.116 for acceleration/deceleration and inertia moment.

P The cycle time simulation and service life calculation can be performed easily from our member site. For
details, see P.16.



LGXS05

Side cover with T-groove installation reference drawing

5

13

28 | /1

~—

o«
M~ N <~
w \5 3@7 o hs

i

With T-groove  With roove With T-groove

G

(LGXS05 )
75 Effective stroke (56.5)
31.5(Note 1) 35 _ | 13(Note 1)
2
8 & & T T T
£ o— T\ — = 1:‘
ss! t—1—+—w———-"—r— -
253 |1 ] =
+ —
A \ e/ Y,
= 4-M5x0.8 Depth 10
2-43H7(*3°"%) Depth 5
(5)_ Lb 48
(215 ) 42
I\ © 32
1 A (o ™ N
Qoo == O el T o ‘
' (=]
(7 |10 ‘
o o3 |
1] ~ |
: 2-M3x0.5 Depth 6 (2 places at same position on opposing sides) ' 24
) M6x1.0 Depth 6 Motor installation block
Grounding (For installation of
terminal (M4) suction air joint)
Qc-M5x0.8
(835 .25 95 Qax100 Qbx50 Depth 6 (Note 2)
table knock hole position) 100 50
— =
g | 5o © |, A Py o) &0 5. ©
45 ¢ lofe *® i @ LACIERA AONERA TN
Z S |
@ 523
o & SR/ 2]
= +0.012 =]
GAHT(*57?) 5 Counterbore hole for Qc-M5
Depth 5 Lo ~ Refer to section
100 50 A cross-section (Note 3)
Coupling section 21.5) 35 95 Qax100 Qbx50 85
5.5
w0
38
[ T T T i e e T T T T 1 — -

(right side)

Detail of section B i Standard " (hoth sides)  (left side)
Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. When using the tap holes to mount the body, remove the set screws first.
Note 3. When using the counterbore holes (section A cross section) to mount the body, remove the cap from the inner side and then fix.
The length under head of the hex socket head bolts (M5 x 0.8) used must be 15 mm or less.
Note 4. Side cover with T-groove is used to install the sensor.
Note 5. Grease gun nozzle (recommended) (see P.143 for detail)
Effective stroke 50 100 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 750 800
Lb 181.5 | 231.5 | 281.5 | 331.5 | 381.5 | 431.5 | 481.5 | 531.5 | 581.5 | 631.5 | 681.5 | 731.5 | 781.5 | 831.5 | 881.5 | 931.5
Lc 110 110 110 110 310 310 310 310 310 310 610 610 610 610 610 610
Qa 0 0 0 0 2 2 2 2 2 2 5 5 5 5 5 5
Qb 0 1 2 3 0 1 2 3 4 5 0 1 2 3 4 5
Qc 2 3 4 5 4 5 6 7 8 9 7 8 9 10 11 12
Weight (kg) 1.2 1.4 1.5 1.7 1.9 2.0 2.2 2.3 2.5 2.6 2.8 2.9 3.1 3.2 3.4 3.5
Lead 20 1333 1066 | 933 | 800 | 666
M:’;L’L‘ﬂm Lead 10 666 532 | 466 | 400 | 333
(mmisec) Lead 5 333 266 | 233 | 200 166
Speed setting — 80% | 70% | 60% | 50%

$53|-10}0J

adfy1apiis

=
=
=
=
=
=3
@
o
3
=]
o
=

33 I





